MCR3UL1 - University Preparation

Day 4: Evaluating Trig Ratios for Angles > 90°

Date:

Chapter 5: Trigonometric Ratios

INVESTIGATE:
Step 1: Determine all the exact values of the sides for the right triangle that point A forms on the circle.
Step 2: Determine the principal angle, related acute angle and the three primary trig ratios for the principle angle.
Step 3: Reflect point A horizontally about the y - axis and form a right triangle. Label the point S.
Step 4: Determine the principal, related acute angle and the three primary trig ratios for the principle angle using calculator.
Step 5: Reflect point S vertically about the x - axis and form a right triangle. Label the point T.
Step 6: Determine the principal, related acute angle and the three primary trig ratios for the principle angle using calculator.
Step 7: Reflect point T horizontally about the y - axis and form a right triangle. Label the point C.
Step 8: Determine the principal, related acute angle the three primary trig ratios for the principle angle using calculator.
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PRACTICE:

HINT: Determine in which quadrants the given ratio could have the same sign.

Solve each of the following for 0 < 6 < 360°.
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COMPLETE: p.299 #2, 5ac, 9, 12
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